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Patterning

Write to tell whether each pattern is “growing” or “shrinking”. Then write the one that

comes next.

O, A______ Pattern @ A Pattern
3+1=4 10-1=9
3+2=5 10-2=8
3 + 3 = 6 10 - 3 =7

(5) A Pattern (%) A Pattern
12-1=11 5+1=6
12-2=10 5+2=7
12-3=9 5+3=8

Draw lines to match the pattern that have the same pattern rules.
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Answers

Patterning

Write to tell whether each pattern is “growing” or “shrinking”. Then write the one that
comes next.

() AGrowing Pattern  (2)  AShrinking Pattern

3+1=4 10-1=9
3+2=5 10-2=8
3+3=06 10-3=7
3+4=7 10-4=6

(3)  Ashrinking Pattern (%) A Growing Pattern

12-1=11 5+1=6
12-2=10 540=7
12-3=9 5+3=8
12-4=8 5+4=0

Draw lines to match the pattern that have the same pattern rules.
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